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Problem Sorter
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Success Criteria

Aim
• I can decide which operation to use and explain why.

• I can decide whether a problem has one or two steps. 

• I can decide if I need to use addition, subtraction, multiplication or 
division.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

270 minutes

48 minutes

58 minutes

50 minutes

Oops! Try again!Correct! Move on to 
the next question.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

369.2 miles 370.3 miles

373.5 miles 363.3 miles

Oops! Try again!Correct! Move on to 
the next question.

https://www.regentstudies.com


On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

244.50

234.75243.57

245.52

Oops! Try again!Correct! Move on to 
the next question.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

£5.08

£6.08

£6.92

£5.92

Oops! Try again!Correct! Move on to 
the next question.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

336

326

452

632

Oops! Try again!Correct! Move on to 
the next question.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

212 whiteboard188 whiteboards

163 whiteboards200 whiteboards

Oops! Try again!Correct! Move on to 
the next question.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

£16.70 £16.80

£16.90£15.90

Oops! Try again!Correct! Move on to 
the next question.

https://www.regentstudies.com


On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

£8.20

£7.35 £7.45

£7.10

Oops! Try again!Correct! Move on to 
the next question.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

70.2

77.227.7

72.7

Oops! Try again!Correct! Move on to 
the next question.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

£2.98

£3.63

£3.50

£3.73

Oops! Try again!Correct! Move on to 
the next question.
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On the board, there will be a question along with four
possible answers. The first person to touch the correct answer wins!

Head-to-Head

23 children

28 children

26 children

25 children

Oops! Try again!
Congratulations
you completed

the quiz.
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Toni buys 20 cupcakes priced £1.20 each and a sponge cake priced £9.70. 
How much did he spend altogether? 

How Do You Solve a Problem? 

First, we need to read the question carefully. 
Next, we are going to understand and underline

any key words.
After, we need to choose the correct method to

solve the problem. 
This question asks me to find the total. Therefore 

we need to use addition to solve this problem.
Before we can work out the total, we need to work 

out the cost of the cupcakes.
A multiplication calculation needs to be completed 

for this part of the problem. (1.20 × 20) + 9.70 =The next step is to solve the calculation. 
We need to solve the calculation in brackets first, and 

then add the answer to 9.70.(1.20 × 20) + 9.70 = £33.70The next step is to answer the calculation. 
Toni spent £33.70 on 20 cupcakes

and one sponge cake.
Lastly, we need to check our answer.

What strategy could we use to check our answer?We can check the answer by completing the inverse.
£33.70 - 9.70 = £24

£24 ÷ 1.20 = 20The inverse is correct so the answer must be correct.

Toni buys 20 cupcakes priced £1.20 each and a sponge cake priced £9.70. 
How much did he spend altogether? 

https://www.regentstudies.com


I’m going to show you a word problem. Your task is to
identify the correct operation needed to solve the word problem. 

Operations

Around the
classroom, I have

placed operation signs. 
Stand next to the
correct operation

sign.
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I’m going to show you a word problem. Your task is to
identify the correct operation needed to solve the word problem. 

Operations

I paid £6 for a bag of 
marbles. There are 25 
marbles in the bag. 
How much did one 

marble cost?

You would
use division to solve

this problem.
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I’m going to show you a word problem. Your task is to
identify the correct operation needed to solve the word problem. 

Operations

Candyfloss £2.50
Toffee Apple £0.78

How much would it cost 
for a toffee apple and a 

bag of candy floss?

You would
use addition to solve

this problem.
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I’m going to show you a word problem. Your task is to
identify the correct operation needed to solve the word problem. 

Operations

Ralf has £20. He buys 
three pocket kites 
priced £3.68 each.

How much money will 
he have left?

You would
use more than one 
operation to solve

this problem.
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Read the questions carefully then answer the calculation
and identify the operation needed to solve the problem.

Problem Sorter
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Select the correct operations to solve the word problem:

All Sorted

Kumal has 313 football stickers and
187 rugby stickers. He shares them equally 

between ten people. How many stickers did each 
person receive?

50 stickers
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Select the correct operations to solve the word problem:

All Sorted

I think of a number. I divide it by 25 then 
multiply the answer by four. The answer is 128. 

What was my starting number? 

800
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Select the correct operations to solve the word problem:

All Sorted

Ruby has 1.096l of juice. She shares it equally 
between four cups. Her sister drinks one cup. 
How much juice does she have remaining?

822 millilitres or 0.822l
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Success Criteria

Aim
• I can decide which operation to use and explain why.

• I can decide whether a problem has one or two steps. 

• I can decide if I need to use addition, subtraction, multiplication or 
division.
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